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Instructions Lﬁ M

= Answer ALL questions. Write your answers in the spaces provided.

»  Show your working to get marks. You may use a non- -programmable scientific calculator.

Question 1

CLo1,C1

[2 marks]

(a) Given the expression x2 + 5xy — 3. Identify the total variable term(s) and constant

term(s) in this expression.

CLO1,C2 [2 marks]
(b) Simplify the expression 11¢5 — 9¢6 +15¢° — 2(—2¢c + 3c?).
Question 2
CLO1,C2 [3 marks]
Simplify the polynomial 3x2(x2 + x +2) — (x* + 2x* = 2x).
Question 3
CLO1,C3 [3 marks]
Use polynomial division to simplify the following.
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Instructions. \d/ L/[

v
= Answer ALL questions. Write your answers in the spaces provided: ~
= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLo1,C1 . [2 marks]

(a) Given the expression x2 + 5xy — 3. Identify the total WS) anc{’w@b
term(s! in this expression.

CLO1, C2 [2 marks]

(b) Simplify the expression 11¢5 — 9¢6 + 15¢% — 2(=2¢ + 3¢?).

Question 2

CLO1,C2 @ nﬂ\ [3 marks]

Simplify the polynomial 3x2(x2+x+2)— (x* + 2x3 — 2x).

Question 3
CLO1,C3 [3 marks]
Use polynomial division to simplify the following.
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
»  Show your working to get marks. You may use a non-prqgrammable scientific calculator.

Question 1

CLO1,C1 ‘ : [2 marks]
(a) Given the expression x2 + 5xy — 3. Identify the total variable term(s) and constant
term(s) in this expression.

CLO1,C2 4 [2 marks]
(b) Simplify the expression 11¢5 — 9¢® + 15¢° — 2(=2¢ + 3c?).
Question 2
CLO1,C2 ' [3 marks]
Simplify the polynomial 3x2(x? + x +2) — (x* + 2x3 — 2x).
Question 3
CLO1,C3 : [3 marks]
Use polynomial division to simplify the following.
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Instructions < u =

= Answer ALL QUestions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1, C1 [2 marks]
(a) Given the expression x2 + 5xy — 3. Identify the total variable term(s) and constant
term(s) in this expression.

CLO1, C2 ' [2 marks]
~(b) Simplify the expression 11¢5 — 9¢b + 15¢5 — 2(—2¢ + 3¢?).
Question 2 _

CLO1,C2 - [3 marks]
Simplify the polynomial 322 +x+2)— (x* + 2x3 — 2%).

Question 3
CLO1,C3 : [3 marks]
Use polynomial division to simplify the following.
n? +10n + 18 .
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Instructions
= Answer ALL questions. Write your answers in the spaces provided.
»  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLo1,C1 [2 marks]
(a) Given the expression x2 + 5xy — 3. Identify the total variable term(s) and constant
term(s) in this expression.

CLO1,C2 [2 marks]
(b) Simplify the expression 11¢5 — 9¢8 + 15¢5 — 2(=2¢ + 3¢?).

Question 2

CLO1,C2 ) [3 marks]
Simplify the polynomial 3x2(x2 + x +2) — (x* + 2x3 — 2x).

Question 3

CLO1,C3 i [3 marks]
Use polynomial division to simplify the following.
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Instructions

Question 1

CLO1;Ci

(a) Given the expression x

Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks.

You may use a non-pr(_)grammable scientific calculator.

: [2 marks]
2 4 5xy — 3. Identify the total variable term(s) and constant

term(s) in this expression.

CLO1, C2 [2 marks]
(b) Simplify the expression 11¢5 — 9¢® + 15¢5 — 2(=2¢ + 3¢?).
Question 2 _
CLO1,C2 ’ [3 marks]
Simplify the polynomial 3x2(x? + x +2) — (x* +2x3 = 2X).
Question 3
CLO1,C3 » [3 marks]
Use polynomial division to simplify the following.
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Instructions v

Answer ALL questlons Write your answers in the spaces provided.
Show your working to get marks. You may use a non- programmable scientific calculator.

Question 1

CLo1, C1

(a)

CLO1,C2

(b)

[2 marks]

Given the expression x* + 5xy — 3. Identify the total variable term(s) and constant

term(s) in this expression.

Simplify the expression 11¢5 — 9¢6 + 15¢5 — 2(—2¢ + 3¢?).

Question 2

CLO1,C2

Simplify the polynomial 3x

Question 3

CLO1,C3
Use polynomial division to simp
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2(x2 + x +2) — (x* + 2x° — 2x).
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Instructions
= Answer ALL questions. Write your answers in the spaces provided.
p p
= Show your working to get marks. You may use a non-prpgrammable scientific calculator.
Question 1
CLO1,C1

[2 marks]
(a) Given the expression x2 + 5xy — 3. Identify the total variable term(s) and constant
term(s) in this expression.

CLO1,C2 [2 marks]
(b) Simplify the expression 11¢5 — 9¢6 + 15¢5 — 2(—2¢ + 3¢?).
Question 2 _
CLO1, C2 T [3 marks]
Simplify the polynomial 3x2(x? + x +2) — (x* +2x° — 2%).
Question 3
CLO1,C3 - ' [3 marks]
Use polynomial division to simplify the following.
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non—prpgrammable scientific calculator.

Question 1

CLO1,Cl [2 marks]
(a) Given the expression x2 + 5xy — 3. Identify the total variable term(s) and constant
term(s) in this expression. ‘

CLO1, C2 [2 marks]
(b) Simplify the expression 11¢5 — 9¢® + 15¢5 — 2(—2¢ + 3¢?).

Question 2

CLO1,C2 | [3 marks]
Simplify the polynomial 3x2(x? + x + 2) — (x* + 2x° — 2).

Question 3
CLO1,C3 = ) [3 marks]
Use polynomial division to simplify the following.
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